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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 5th Semester Examination, 2022  

DSE-P1-NEPALI 
Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 

 The question paper contains DSE-1A and DSE-1B. 
The candidates are required to answer any one from two Courses. 

Candidates should mention it clearly on the Answer Book. 

 DSE-1A 

 usikyh Hkk’kk lkfgR;ek pysdk izeq[k vkUnksyu j okng: 
 lewg-d
1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12

(d) *Qqy ikr iRdj* if=dk dfgys j dgk¡ckV izdkf”kr Hk;ks \ ;l if=dkdks egÙo ds 
N \ 

([k) >jksZokn Hkusdks ds gks \ >jksZoknh vkUnksyudk iz.ksrkg: dks dks gqu~ \ 
(x) l³~Øe.kdks vFkZ ds gks \ ys[uqgksl~A 
(?k) rjyrkoknh vkUnksyu dldlys j fdu lq# xjsdk fFk, \ 
(³) yhyk ys[ku dqu dqu fln~/kkUrckV izHkkfor N \ 
(p) jkYQkyh vkUnksyudks izeq[k iz.ksrk dlykbZ j fdu ekfuUN \ 

  
 lewg-[k
2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) >jksZoknh vkUnksyudks egÙoA 
([k) vk;kfed vkUnksyudk ekU;rkA 
(x) Hkk’kkdks ekudhdj.kek gyUr ofg’dkj vkUnksyudks ;ksxnkuA 
(?k) jkYQkyh vkUnksyudks i`’BHkwfe j egÙoA 
(³) rjyrkoknh vkUnksyuA 
(p) usikyh izxfroknh dforkA 

   
 lewg-x
3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) l³~Øe.k ys[kudks i`’BHkwfe] ekU;rk j fo”ks’krkckjs vk¶uks v/;;u izLrqr xuZqgksl~A 
([k) yhykys[ku HkUukys ds cqf>UN \ ;ldk ekU;rk j miyfC/kckjs foLrkjiwoZd ppkZ 

xuZqgksl~A 
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(x) usikyh izxfroknh lkfgR; ys[kudks i’̀BHkwfe] ijEijk j izHkkoekfFk ,mVk ys[k ys[uqgksl~A 

(?k) usikyh Hkk’kkdk {ks=ek >jksZoknh vkUnksyudk miyfC/k j lhekckjs leh{kkRed ys[k 
ys[uqgksl~A 

  

 vFkok  

 DSE-1B 

 lokbZ j ygjh dkO; 

 lewg-d
1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ & 3×4 = 12

(d) lokbZ HkUukys ds cqf>UN \ 
([k) *nkftZfy³dks iSjkdks lokbZ* dlys ys[ksdk gqu~ \ ;lek ds dks fp=.k xfj,dks N \ 
(x) *vCciZgkMdks lokbZ*ek dqu igkMdks dqjk xfj,dks N j ;ks igkM dqu Bkm¡ek iNZ \ 
(?k) *vNkedks lokbZ*ek vNke Hkusj dqu fo”ks’k LFkyykbZ Hkfu,dks gks \ 

(³) *mn; ygjh* dqu HkfDr/kkjk izof̀Ùkdks ygjh dkO; gks \ cq>k,j ys[uqgksl~A 
(p) ygjh j lokbZek ds vUrj N \ ys[uqgksl~A 

  

 lewg-[k

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) *nkftZfy³dks iSjkdks lokbZ* dkO;dks ewy HkkoA 

([k) *mn; ygjh*dks lkekftd egÙoA 

(x) *vkuUn ygjh*dks lajpukA 

(?k) lokbZ lkfgR;dks egÙoA 

(³) ygjh lkfgR;dk fo”ks’krkg:A 

(p) *HkksVdks lokbZ* dks ewyHkkoA 
   

 lewg-x

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ & 12×2 = 24

(d) ygjh j lokbZ lkfgR;dks i’̀BHkwfe j ijEijkckjs ,mVk ys[k ys[uqgksl~A 

([k) *nkftZfy³dks iSjksdks lokbZ*ek ikbus lkekftd j HkkSxksfyd fp=.kdks ppkZ 
mnkgj.klfgr xuZqgksl~A 

(x) *ukxkfgYldks lokbZ*dks lkfgfR;d ewY;dks fu/kkZj.k mnkgj.klfgr xuZqgksl~A 

(?k) oLrq i{k j “kSyh i{kdk nf̀’Vys *HkksVdks lokbZ*dks ewY;k³~du xuZqgksl~A 
  

 ——×—— 
 


